H = 0 & AFS S Al A
A= CADS2 FAL AL
MEH: AR
Rl e REAEEY EEERSED
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
SAWE= 155,899,060 139,325, 167 16,573,893
= 12,137,465
g 4,166,000
J| 584,000
o= 7,321,919
Al 131,689,676
S Al D 5,736,299 15,009,560 N9,273,261
& 500,000
Al 5,236,299
S AN 5,548,719 14,797,780 N9,249,061
== 500,000
Al 5,048,719
gl EC A 2Y 18,600 18,800 A200
SAIHAE 2| 18,600 18,800 A200
202 04b| 9,600 9,600 0
01 2LH | 9,600 9,600 0
OZANHEE FR2=FX
20,0003 *4H*1203] 9,600
203 R =&IH| 9,000 9,200 A200
03 AIZHF=EHR2=KRIH| 9,000 9,200 A200
OAMDENHZF(2)
6,000,000& * 1A 6,000
OEAIARE=X 3,000,000& * 14! 3,000
OICHKIEF A QI = Al HI = 1,292,719 9,050,980 7,758,261
018 TAIHEANL (=2, B2 S) 2H(HY) 400,000 200,000 200,000
401 AIEHILE0HY] 400,000 200,000 200,000
01 Al&H| 400,000 200,000 200,000
OFIIDIAY TAIHEAL(E2, 28 S) 2
H(BE)Ed 400,000,000 * 1A 400,000
MELS T A S AIZ2IHE =8 350,000 350,000 0
401 AIEHI L 204 350,000 350,000
01 Al&H| 350,000 350,000
OMESH A TAlZCIHE =2
350,000,000& =14 350,000
TAIHE HEHMAPIS) KXl 25,000 330,000 305,000
401 A& HILE0HY] 25,000 330,000 305,000
01 Al&HI 25,000 330,000 305,000
OZAIHE HEHMAH(WPIS) S E24]
25,000,000 & = 1A 25,000
203BE TADI2AHE L 22 HE B EA 96,739 0 9,739
401 AIEHI X204 96,739 96,739
01 Al&H| 96,739 96,739
Q203BETAIDI2HE L 22| HE S SAH(
=S2MEA) 96,738,600& * 1A 96,739




A= ZAUES A ZAID
MEH: AR
ctRls DIHXIEH I A= (Gt M)
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
TAIZ2IAHE ¢ 86,800 86,800
201 LBt2AbH| 86,800 86,800
01 AFR2teltl 86,800 86,800
Oget=2H]| 57,400
o AZeHE ¥ - s10E
2,500,000& *223| 55,000
o AIHERRE IME HZ
1,000 %123 *x10052 1,200
CNHBBLBEHIS AHE MK
1,000& *128| 10052 1,200
o294 29,400
o AHERRG L ANNEFLBERA
3| 3o 70,000 #2523 *243| 7% 29,400
SAIHE 2 21,700 21,700 0
201 LBt2AH| 10,500 10,500
01 AtR2teld| 10,500 10,500
Oget=2H]| 10,500
oEXOISHEEQIR LUZAZE F
6,500,000 & * 1A 6,500
CTANETH EAE TRIE ADE
4,000,000& *1A 4,000
202 044| 11,200 11,200
01 2L Y| 11,200 11,200
OZAIZ2IHE SRFA
20,000& x4H x703| 5,600
OXNREAHE FRFA
20,000 x4 *703] 5,600
SAISIOF 22 12,480 12,480 0
202 44| 12,480 12,480
01 2L | 12,480 12,480
Ofgeiadt2ted HR2FX
20,000& *4H x1563] 12,480
NEIbsd NRERAE 28 S 300,000 100,000 200,000
401 AIEHILE0HY] 300,000 100,000 200,000
01 Al&HI 300,000 100,000 200,000
ORXIEIbsst AREHKAHE 8 24
300,000,000& *1A 300,000
pNRS=DR=" 4,000,000 5,500,000 A 1,500,000
= 500,000
Al 3,500,000
SUAIT 3ISH(QSD~-ESNMUIIZ) &2 SEIXHDA} 3,000,000 1,500,000 1,500,000
401 A& H|I L E0HY] 3,000,000 1,500,000 1,500,000
01 Al&HI 2,990,000 1,490,000 1,500,000
OSHAIE 354 (2sW~EHitNE]) E2& T
B A 2,990,000,000& * 14! 2,990,000




A= ZAUES A ZAID
MEH: AR
=l NS (EHl: &)
AT PN FHH . S (3) - NSAY - BAS ofl kot e e
TN -85 TAE - B = ofl kot S2
03 Al 2 0HHI 10,000 10,000 0
OAIZ 201t 10,000,000& * 14! 10,000
SHO23| - ofOHH T2 ZHAIH(HEALY) 1,000,000 1,000,000 0
& 500,000
Al 500,000
401 AIEHI L 204 1,000,000 1,000,000 0
o= 500,000
Al 500,000
01 Al&H| 990,000 990,000 0
OHUL2SolorA A2 LAY
990,000,000& *1A] 990,000
== 495,000
Al 495,000
03 A& 20HHI 10,000 10,000 0
OHLZgolotd 22T HAIY 2048
10,000,000 & =14 10,000
= 5,000
Al 5,000
SAZB2AXY 237,400 228,000 9,400
TAIEZ AZHFA 237,400 228,000 9,400
201 LEr2AH| 87,400 78,000 9,400
01 AtR2teld| 62,000 58,000 4,000
OgBt=2H]| 1,000
o ANZ& AMNHBFE =222 HE
1,000,000 * 1A 1,000
o294 24,000
ST ANAEZSARASG L H2AR]G FHA
=& 100,000& *12& 203 24,000
Oextz 37,000
oHMSAFIE B2 A=
13,000,000 & *1A 13,000
odAArs EERA =
24,000,000 & = 1A 24,000
02 B22ZH| 25,400 20,000 5,400
OSZ2XEHE SAze 25,400
ogadZE 2 & ok 2=
450,000 12& 5,400
o3HB 24 IR
500,000« 12& 6,000
oZAZ 24 AILDBHA HHAESHS
2,000,000& *12] 2,000
ogaHZE B HAEY
600,000& 123/ 7,200
oZE= MIFE XMIIL2
300,000 *123] 3,600




A= SANSH

M SADNY

A 0 ZAI

? EAF2TY EER=E)
AZ 2N T G(E) - HRAY - BES 0l st e HimE=+T
odE=FW MIE HOUE SRS
100,000& %123} 1,200
401 AIEHIL 20| 150,000 150,000
01 Al&HI 150,000 150,000
OZAILIEl AldE |2 & B
150,000,000 *14! 150,000
SSLIAR J|&l2e 64,680 74,400 A9,720
S30A2 Jjet =2 64,680 74,400 N9,720
SSLA 2g2c 62,280 72,000 N9,720
201 Let=Eh] 47,880 48,000 A120
01 AlR2telHl 47,880 48,000 A120
Os&LA FHMEG AR 2l
6,000,000+ 14! 6,000
OsastIdERE =& 41,880
oSS SRS =L (FA=T)
100,000& 23« 122 27,600
oS3UNNSAYSE = (IU2+E)
70,0003 17 *122 14,280
301 LetEA=3 14,400 24,000 9,600
11 AN~ S 14,400 24,000 9,600
OS3LNITEARAZ] 32 0|
100,000 %122 %123 14,400
S3CAe 2g834| 2,400 2,400 0
202 04l 2,400 2,400
01 2HA] 2,400 2,400
O30 LL 0t
20,0002 <2603 2,400
HY2AZHI(ZAID) 122,900 137,380 A14,480
-] 62,400 77,880 15,480
S3CIAe 2H2el(ltl) 62,400 77,880 N15,480
101 2124 62,400 77,880 15,480
02 JIEtx 2= 62,400 77,880 15,480
OSZLIXel QIEMEIHCIRIL! - AF) B
2,600,0002 2%~ 12 62,400
Jl=23H| 60,500 59,500 1,000
Jl23H] 60,500 59,500 1,000
201 Let=El 33,700 33,700 0
01 Ar2teltl 33,700 33,700 0
OAt=2telbl 23,300
cAHIANRES 7 500,000& 122 6,000
SALRII| 22EAY
10,300,000 %14 10,300
o& D2l 75,0002 122 900
=J|Et Let=3H] 4,000,000& 14! 4,000




A= CADS2 FAL AL
M HY2AAHI(TAID)
Chel: J1=2Zl EERED
A= - 24 - ZH - R(3H) - HRAY - BES Oll ko ag% Hnsz
o= MY 300,000 73 2,100
OEEL] 10,400
ol|2YRad ZAlY|
8,000 1321003 10,400
202 0it| 16,200 16,200
01 240t 16,200 16,200
OJl=gR+=a0tl
90,0002 18 * 103 16,200
203 YR =XH| 10,600 9,600 1,000
01 JIZ 2R TR 7,000 6,000 1,000
OJ|22HHRFA 7,000,000 14! 7,000
M PARIYSFZIY| 3,600 3,600 0
ORN2IU2EX 3,600,0002 %14 3,600




H & O & A B Al A
CARER 2A  DSD
CAX NEHH =X
wS2cl e
22N - FY . S(31) - NIRAY - BES Ofl b ﬁg% HRE2
39,342,980 36,009,834 3,243,146
= 938,800
z 749,000
p 584,000
= 1,484,767
Al 35,586,413
DER =1 425,000 448,000 23,000
2e 425,000 448,000 23,000
T ESEEN NS E Y 19,000 19,000 0
207 TN LY 19,000 19,000 0
01 g | 19,000 19,000 0
Ol s A 2 BY o 8
19,000,0002 14! 19,000
HARBAASIE 2 29 368,000 409,000 A41,000
201 Yere | 317,000 313,000 4,000
01 Al 22|t 40,000 40,000 0
OHAZBAIAE 29 2 R}
30,000,002 % 14! 30,000
OMHBRUE o SENB t8E MR
10,000,000 14! 10,000
02 ZZ2| 277,000 273,000 4,000
OmI| s8I 95,000,002 *14! 9,000
OHAFZOHYD| RH|22
12,500,0002! 122 150,000
OHARZOHYI| HARH
5,000,002 42| 20,000
OHAZSBAIAR(BIS) BHOIX & 2Hie
S22 12,000,0002 14! 12,000
401 AlZHI L 20| 51,000 9,000 45,000
01 Al&H 51,000 9,000 245,000
OHAFSOHYD| 700 X
8,500,00021+674 A 51,000
DEF HELEY 38,000 20,000 18,000
207 AN 38,000 20,000 18,000
01 IpgE | 38,000 20,000 18,000
OZLEA XY HEDSE AREAIZI
19,000,0002! 14! 19,000
OZLEA SAIDSHH AR H=
19,000,002 14! 19,000
& nEsY 3= 30,440,251 31,147,260 AT707,009
= 938,800
a 749,000
p 584,000
= 1,484,767
Al 26,683,684




AR CANE= S NEM
Hu: ORIEN REHF 715
Hel: HsusSAe 243t EEREE)
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . S = ofl kot S
=S nsEAY 2435 30,440,251 31,147,260 707,009
= 938,800
= 749,000
J| 584,000
== 1,484,767
Al 26,683,684
ANHEXNSK RIIBE=XA 12,000,000 10,700,000 1,300,000
307 21Z2t0| ™ 12,000,000 10,700,000 1,300,000
090 2+HAHEXZS 12,000,000 10,700,000 1,300,000
OMIBTISTHHA A, 812)RII2E2
A& 12,000,000, 0002 *100% 12,000,000
AILHEHA Hi=2des XA 4,541,155 4,534,499 6,656
= 541,155
Al 4,000,000
307 S1Zto| ™ 4,541,155 4 534,499 6,65
= 541,155
Al 4,000,000
09 2+HAHEXZS 4,541,155 4,534,499 6,656
OAILIHA Hiz=2led XA
4,541, 155,000& *100% 4,541,155
& 541,155
Al 4,000,000
ALHEHA SSAYE THAE XA 3,038,599 1,859,541 1,179,058
201 LEtEAH| 30,000 0 30,000
01 At22t2lbl 30,000 0 30,000
Oz4l WNESX It d7 &2
3,000&%10,000& 30,000
307 2I1Z2+0| & 3,008,599 1,859,541 1,149,058
09 2+HAHEXZS 3,008,599 1,859,541 1,149,058
OAUWHA LED MEE S22
671,655,000 *12% 80,59
OOAHA LED Hs e & &X)
8,000, 000& *100% 8,000
OANUHA REets A8 A
2,000,000, 000! *100% 2,000,000
O024 NESX X A BAH(BBMOIA 75
Ml 0]8h) 169,000, 0002 *100% 169,000
O 24l WEZSX XY =AIBAH(T5H 014
751,000,000 *100% 751,000
MAHA S X 920,000 920,000 0
= 460,000
& 138,000
Al 322,000
402 QIR0 920,000 920,000 0
= 460,000




A2 TAUS=E 2A  nsH
M ORISN NESHH I=
Hel: HsusSAe 243t EEREE)
A (=] X ol(S = EEE =
A= 24 - 3 2A(3) - NRAY - BES Ofl &k Ol kot HwsZ
(= 138,000
Al 322,000
02 QI X2 AL EE (01X THE) 920,000 920,000 0
OMAHA E2XA 920,000,000 »100% 920,000
= 460,000
= 138,000
Al 322,000
S3EHA X 3,200,000 3,570,000 A370,000
= 420,000
S 126,000
Al 2,654,000
307 eIztol ™ 3,200,000 3,400,000 200,000
= 420,000
S 126,000
Al 2,654,000
09 2+YHEXS 3,200,000 3,400,000 A200,000
OOtAHA 2%l XA
840,000,000 *141+100% 840,000
z2 420,000
S 126,000
Al 294,000
OOt A 2gdl XI&(AGIEDL)
2,360,000, 0003 * 141 %100% 2,360,000
SgussH 29 N¥0I12) 1,890,000 1,771,000 119,000
| 584,000
Al 1,306,000
201 Let2 ] 41,600 31,000 10,600
02 2324l 41,600 31,000 10,600
OSguse 2SI (AHIFI)
41,600,000 14 41,600
307 212+01& 1,848,400 1,740,000 108,400
) 584,000
Al 1,264,400
05 QI2telet2 1,848,400 1,740,000 108,400
OSgus=t 22X
1,848,400,000& = 14! 1,848,400
| 584,000
Al 1,264,400
EAI2SAIY XIZ 1,067,022 517,232 549,790
201 L= 532,500 2,500 530,000
01 ArR2eltl 532,500 2,500 530,000

100,000& x5 & #52

2,500




CANS=S A 0 WS
OIRIEA DESAE 7F
HsnsSAy 243t EEREE)
2. 24 - BH . OI(S) - NIRAIY - BES Ol bt e imE==
OSIAOIS JEE/E 222IR A
530,000,000& 14 530,000
307 QI2Hol ™ 457,689 457,932 A243
02 QIRHEAAIHE X 457,689 457,932 A243
OEAl MEIAJNS (S, 2 ZHHIbl) X1
14,3003 *1, 268CH*12& *100% 217,589
OEAl SSEHH AIEXHA
343,000,000 *70% 240,100
308 AHXIHM SO & 16,833 16,800 33
11 312 S & H A 16,833 16,800 33
OHAI2HYBALIAAB(TIMS)2SH| XA
16,833,002 +14! 16,833
401 A& HI L S CHY| 60,000 60,000
01 Al 60,000 60,000
OSASAF &3
60,000,000 14! 60,000
Al JtE=E K& 213,024 154,920 58,104
& 63,907
Al 149,117
307 212+01 A 213,024 154,920 58,104
& 63,907
Al 149,117
02 QIRHEAAIHE X 213,024 154,920 58,104
QBN 228 X
213,024,000 *14]*100% 213,024
= 63,907
Al 149,117
ARSI DIE 22K B3I H]) 159,267 219,200 A59,933
& 47,780
Al 111,487
402 QIZERH=0IN 159,267 219,200 A59,933
& 47,780
Al 111,487
02 IZtR=AIE E X 2l) 159,267 219,200 59,933
O I=IEOIE HE ALY KI&
199,083, 0003 * 14! *80% 159,267
= 47,780
Al 111,487
SSEEAl XA 192,940 181,708 11,232
s 29,000
& 49,182
Al 114,758
301 LB Z 192,940 181,708 11,232
s 29,000




A= CTANE= 24 0 s
M 02BN DEHY IE
Hel: HsusSAe 243t EEREE)
A2 2N ZH . O(3) - HIRA Ofl ko o HlmE2
= 49,182
Al 114,758
01 Al BEXSHZ(2REETA) 192,940 181,708 11,232
OSSEEAl XA 192,940,000 * 14| 192,940
= 29,000
= 49,182
Al 114,758
DX it OIHEIE K& & Lol NESN W= 120,000 120,000 0
= 17,700
= 12,390
Al 89,910
301 LB NZ 120,000 120,000 0
= 17,700
= 12,390
Al 89,910
14 JIEt2 A3 120,000 120,000 0
ODEX Hojety QIMEIE K& & Lol W
SN N 59,000,000 14! 59,000
= 17,700
= 12,390
Al 28,910
OLNFR Haiete QIMEIE K& Y Lol
SOHM WK(AIHIFI)
61,000,000 14! 61,000
EHAl ot AY MX| 80,514 7,560 72,954
& 24,154
Al 56,360
402 SIZERH=01 M 80,514 0 80,514
& 24,154
Al 56,360
02 QIZEXH2 A 22 (01 & TH &) 80,514 0 80,514
OEAl ot 2ASH AX|
115,020, 0003 141 %70% 80,514
& 24,154
Al 56,360
HARE=SALA 22020 HEXIR At 315,000 286,200 28,800
& A,500
Al 220,500
307 212+01 A 315,000 286,200 28,800
& A,500
Al 220,500
0 2HEX 315,000 286,200 28,800
OHAZ+SAMA 2204 HEXIE At
315,000, 000& *100% 315,000




A2 TAUS=E 2A  nsH
M ORISN NESHH I=
Hel: HsusSAe 243t EEREE)
AZ -2 - FH - HA(SH) - HIRAIY - BES Ofl &k OE:IE% HwsZ
(= 94,500
Al 220,500
SgussH & 528,000 230,000 298,000
= 264,000
(= 79,200
Al 184,800
405 KHAHF SH 528,000 230,000 298,000
= 264,000
S 79,200
Al 184,800
01 ML ESHSHI 528,000 230,000 298,000
OSguns+t &Yy
528,000,000& 141 528,000
= 264,000
S 79,200
Al 184,800
SsdiH & 23AMAEH =4 40,000 120,000 /80,000
401 AIEHIZL 2 0HY| 40,000 120,000 /80,000
01 Al&HI 40,000 120,000 80,000
OOtaBiA ESHH | 2=
40,000,000 *14] 40,000
FE AMEIHA 2 (X2)(2EAHEZAI) 10,000 0 10,000
[ 5,000
= 2,500
Al 2,500
401 AlIEHIZL 2 OHYI 10,000 0 10,000
= 5,000
= 2,500
Al 2,500
01 Al&HI 10,000 0 10,000
OAIEIHA S2E A&
10,000,000& *14] 10,000
= 5,000
= 2,500
Al 2,500
EHAIZX EAXIA(HEZXIL) 312,000 1,496,000 1,184,000
= 93,600
Al 218,400
301 L2 312,000 1,496,000 1,184,000
= 93,600
Al 218,400
14 J|EtE &S 312,000 1,496,000 1,184,000
OBAIZ X SAXIA(HEZAL)
13,000,000 *24CH 312,000




A2 TAUS=E 2A  nsH
M ORISN NESHH I=
Hel: HsusSAe 243t EEREE)
AZ -2 - FH - HA(SH) - HIRAIY - BES Ofl &k d~ HwsZ
Oll &koH
= 93,600
Al 218,400
2E AEIHA 2H(2ZAHEZAI) 590,000 85,000 505,000
= 295,000
(= 147,500
Al 147,500
201 L2 14,000 0 14,000
= 7,000
S 3,500
Al 3,500
01 Al 22l 14,000 0 14,000
Ocl2d ¥ 24 M
14,000,000& *14] 14,000
s 7,000
S 3,500
Al 3,500
307 gI2tol M 576,000 85,000 491,000
s 288,000
S 144,000
Al 144,000
09 2+HHEES 576,000 85,000 491,000
OLE ANEIHA 2E(ZBHETAI)
576,000,000 *141+100% 576,000
z 288,000
S 144,000
Al 144,000
SHEEA 245 XI” 285,250 185,500 99,750
= 85,575
Al 199,675
402 SIZERHE0I M 285,250 0 285,250
= 85,575
Al 199,675
02 QI THEAIEEE(0IETHE) 285,250 0 285,250
OEHEEA 2#ASH X
407,500,000 *141%70% 285,250
S 85,575
Al 199,675
20238 2SWSIHE N ALY 11,800 0 11,800
= 5,900
Al 5,900
308 XXM SOIA 11,800 0 11,800
= 5,900
Al 5,900
11 S 2SS HASAIE 11,800 0 11,800




A= CTANE= 24 0 s
M 02BN DEHY IE
Hel: HsusSAe 243t EEREE)
AR 24 - BB G9(3) - NRAY - BES Ol ke o HlmS2
O2swEIIC orgen 1g
11,800, 0002 *100% 11,800
= 5,900
Al 5,900
HIEMH WSk 0ls K& 435,000 435,000
301 LEHBEF 387,000 387,000
03 AFSI 2 & A6 2 (X THEA) 387,000 387,000
O2sMEX Eas XF
387,000,000 » 14! 387,000
307 QI2H0| A 48,000 48,000
" AMSI=SXAIEEE 48,000 48,000
OHIZMH wsSi 2 X2
48,000,000& *100% 48,000
GETSIEHDIE oHiet &X 150,000 150,000
401 A& HIZ20HY| 150,000 150,000
01 AlEHI 150,000 150,000
OLSANAHAHOIE ANEEE CHHE &X
150,000,000 14 150,000
EHAl CHXHHIE K 82,500 82,500
= 24,750
Al 57,750
307 QI2Hol A 82,500 82,500
& 24,750
Al 57,750
02 QIRHEAAIHEE X 82,500 82,500
OE4Al HXEI = XI&
82,500,000 *141%100% 82,500
= 24,750
Al 57,750
Al SADIEEX X XN& 160,580 160,580
= 48,174
Al 112,406
402 QI2ERH=0I1 N 160,580 160,580
& 48,174
Al 112,406
02 QIZFXHE AL B X (01 & THEA) 160,580 160,580
OSAl S&DIEEX &XI X&
229,400,0003 141 %70% 160,580
& 48,174
Al 112,406
SgHusSsH 2 N (=ER) 97,600 97,600
= 97,600
307 QI2Hol ™ 97,600 97,600
= 97,600




CALS=
QRIS NsSEE
HsnsSAy 243t

2A

S|
Om
]

2. 24 - ZH . O9(31) - HISA Ofl ko o HlmE2
05 QIZtRES 97,600 0 97,600
OSEIS4E 27
97,600,000 14! 97,600
= 97,600
HY2AGH(S) 29,380 29,320 60
=234l 29,380 29,320 60
J|1E23H| 29,380 29,320 60
201 Lt | 10,100 10, 100 0
01 At 22|l 10,100 10,100 0
Oget=ZH| 10,100
CHHBARES 300,000& =123 3,600
SAIRIPD| A2
500,000 122 6,000
oJ|EtegH] 500,0002 14! 500
202 04d| 14,000 14,000
01 =LHO4 b 14,000 14,000
OJI=2dS =80l
100,000 *28F 53| 14,000
203 R F=&Y| 5,280 5,220 60
M EA2IHRFALI 5,280 5,220 60
ORN2ZIHRFA 440,000 122 5,280
S#s(us) 8,448,349 4,475,254 3,973,095
S I DNES 8,448,349 4,475,254 3,973,095
LHEHH K= 8,448,349 4,475,254 3,973,095
701 JIEte| HSHEZ 8,448,349 4,475,254 3,973,095
01 JIEtSIHEEZ 8,448,349 4,475,254 3,973,095
OuLSASESES 2 (A SAIXIS
= T 0%
8,448,349,000& 14 8,448,349




H = 0 & AFS S Al A
=2 SADNE= SA 0 SAIHAD
HzZH: F010| F=Eo6t= KBS TAITA
&l SyEyst (S M)
AR .2 HH . O(3) - MIBARY - BAES ofl kot e HRE2
2= TN -8R . 85 = ofl kot S
S AL XHAH 8,332,770 13,584,801 N5,252,031
rag 1,523,000
= 239,500
Al 6,570,270
F=010| =E5l= KHIss TAIA 7,947,647 13,008,239 N5,060,592
rag 1,523,000
= 239,500
Al 6,185,147
TAEHS 6,204,879 8,208,239 A2,003,360
rag 1,523,000
o= 239,500
Al 4,442 379
S AITHAH AL 86,880 34,040 52,840
201 LEt2AH| 46,800 21,960 24,840
02 B22ZH| 46,800 21,960 24,840
OZ2222 ¢ HAl 46,800
oMIIRZ 3,600,000& 122 43,200
oal J3tE 23 300,000+ 12& 3,600
202 04| 34,080 10,080 24,000
01 2| 10,080 10,080 0
O A M A=
20,0003 x6H *843| 10,080
03 =28 20| 24,000 0 24,000
OZ2=Z2 THMAH el A
4,000,000&+6H*13] 24,000
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2= TN -8R . 85 = ofl kot S
401 A& HILE0HY] 1,666,666 4,333,333 N2,666,667
& 1,000,000
Al 666,666
01 Al&HI 1,666,666 4,333,333 N2,666,667
OXZH MEISIE TAAL
1,666,666,000& * 1A 1,666,666
= 1,000,000
Al 666,666
Keold(HSER) HUIAIS (HSHAIY) 1,666,666 1,666,666 0
= 1,000,000
Al 666,666
401 A& H|I L E0HY] 1,666,666 1,666,666 0
& 1,000,000
Al 666,666
01 Al&HI 1,666,666 1,606,666 0
OX o™ (ASXA ) AFY
1,666,666,000& * 14! 1,666,666
& 1,000,000
Al 666,666
KNEots SAEAMS 350,000 180,000 170,000
= 175,000
Al 175,000
401 A& HILE0HY] 350,000 180,000 170,000
& 175,000
Al 175,000
01 Al&H| 350,000 180,000 170,000
OXNgotd SA S 350,000,000& * 1A 350,000
& 175,000
Al 175,000
XNEots S48 AN&EZ2 ALY 160,000 200,000 240,000
o= 80,000
Al 80,000
401 AlEHIL 2 CHY] 160,000 200,000 A40,000
= 80,000
Al 80,000
01 Al&HI 160,000 200,000 40,000
OXeotd RLAsE NES HUIAIE
160,000,000 * 14! 160,000
& 80,000
Al 80,000
HAZX P LTHAIE(S4X) ZLASY 17,000,000 0 17,000,000
401 AIEHIZL 204 17,000,000 17,000,000
01 Al&H| 17,000,000 17,000,000




Ax CAUES A AL
M ok THoHOle
s Xgote 2t EEREE)
AR 2N B S2(3H) - NSAY - BES 0l Aot e tmE=FT
OZEXFHMAIL (R4=X)EL AL 17,000,000
o EXE A 16,200,000, 000& 14! 16,200,000
oZ9H| 800,000,000 * 14! 800,000
Kotd ot EHIAY 300,000 160,000 140,000
(= 150,000
Al 150,000
401 Al&BIL S THYI 300,000 160,000 140,000
< 150,000
Al 150,000
01 Al£HI 300,000 160,000 140,000
OXl&otd ot EHIALY
300,000,000 * 14 300,000
< 150,000
Al 150,000
g otaEHIAY 100,000 0 100,000
401 AlZBIL S THYI 100,000 100,000
01 AlZHI 100,000 100,000
Ovotatdtl & =832t gl
100,000,000 14 100,000
aotd 2el 7,600,000 5,620,000 1,980,000
= 140,000
z 1,110,000
< 555,000
Al 5,795,000
AGHE(AISH) ZHIAG (R EALY) 500,000 3,010,000 2,510,000
401 AlEHIYL S THYI 500,000 3,010,000 2,510,000
01 Al&HI 400,000 3,000,000 22,600,000
OAGHE(ANSE)EHIAIY
400,000,000 x14] 400,000
02 2teld| 100,000 0 100,000
OZell 100,000,000 *14] 100,000
AGHE(Z0IR) FHHIAFS (R EALY) 2,000,000 100,000 1,900,000
401 AlEBIYL S THYI 2,000,000 100,000 1,900,000
01 Al&HI 1,700,000 100,000 1,600,000
OAGHE(201d) ZHIAIY
1,700,000,000& 14! 1,700,000
02 22l 280,000 0 280,000
OZell 280,000,000 x14] 280,000
03 A& CHYI 20,000 0 20,000
O31s & AIE20UH]
20,000,000 * 14! 20,000
ASHE(2EH)FEHIAY 100,000 0 100,000
401 AIEHIYL S THYI 100,000 100,000




Ax CAUES SN HED
M ok THoHOle
Chel: AGHE 22l EERED
AR 2A - FH . O(3H) - HIRAY - BES 0 Ao e tmE==T
01 AlZHI 100,000 0 100,000
OAGHE (258 ZHIAY
100,000,000 *14] 100,000
A0 HYEX 24 400,000 200,000 200,000
401 AlEHIYL S THYI 400,000 200,000 200,000
01 Al&HI 400,000 200,000 200,000
AOHEEUER 24
400,000,000 x 14! 400,000
A0tE QIAGHA AMY 600,000 600,000
401 Al&BIL LY 600,000 600,000
01 Al£ZHI 600,000 600,000
OZotd, MIA QIR AANY
600,000,000 » 14 600,000
20otd otatEHl & o0l At 300,000 300,000
201 er2 3| 100,000 100,000
01 AtR2te|Hl 100,000 100,000
OAGHE EH| ZHIXH]
100,000,000 14! 100,000
401 Al&BIL Y] 200,000 200,000
01 AlEZHI 200,000 200,000
OZotd e8|, =4 & RS+
160,000,000 14 160,000
OAGHE 2| A SXI2el
40,000,000 14 40,000
L oIS IHA X+ FHIAS 2,220,000 1,210,000 1,010,000
z 1,110,000
= 555,000
Al 565,000
401 AlEHIYL S THYI 2,220,000 1,210,000 1,010,000
= 1,110,000
= 555,000
Al 565,000
01 AlZHI 2,220,000 1,210,000 1,010,000
O THRAZEMEXI 7 HUIALL
2,220,000,000& 14 2,220,000
= 1,110,000
< 555,000
Al 565,000
2=0HOIE boxw 2 D ALY 1,200,000 0 1,200,000
401 AlEBIYL S THYI 1,200,000 1,200,000
01 Al&HI 1,200,000 1,200,000
Ol boxn&(SXIA) L A
1,200,000,000& 14! 1,200,000
A0E HSZLAAE 25 280,000 0 280,000




Ax CAUES A AL
M ok THoHOle
Chel: AGHE 22l EERED
4324 Y. O9(8) - HRAY - BES Ofl At e HDS
= 140,000
Al 140,000
401 Al&BIL S THYI 280,000 0 280,000
= 140,000
Al 140,000
01 Al&HI 280,000 0 280,000
OADIE ASs2ACIANAY 2=
280,000,000 x 14 280,000
= 140,000
Al 140,000
HYE2AAHI(ALD) 87,500 75,000 12,500
Jl=3tl 87,500 75,000 12,500
JlI=2&Hl 87,500 75,000 12,500
201 Ler23| 63,120 60,240 2,880
01 AtR2tel] 55,920 53,040 2,880
Ogit==H| 18,000
oAR24H] 3,000,000 %14 3,000
CcHTANRES E MRIDIAEE
7,000,000 *14] 7,000
oJ|Et=24| 8,000,000 14! 8,000
O=gHl 16,320
oJ|2URrATA
8,000& 17 *102* 12 16,320
Oxtgraxtz 900,000 x2CH+ 122 21,600
02 35234l 7,200 7,200 0
Oxtg==ol 600,000 * 122 7,200
202 Ot 14,280 11,760 2,520
01 =LH0d 14,280 11,760 2,520
OJl=gd R0
70,0003 17 x1238] 14,280
203 BR=&H] 3,600 3,000 600
M FA2HLRFAI 3,600 3,000 600
ORM2ggR=d 300,000& * 12 3,600
405 THHFSHI 6,500 6,500
01 ML ESFSHI 6,500 6,500
OXtetF SHI 6,500
odd 500,000 17K 500
o= A 6,000,000 * 1K 6,000
HRes(A=) 850,000 608,761 241,239
PPN 850,000 608,761 241,239
A= dE 850,000 608,761 241,239
311 XU SO0l K&t 850,000 608,761 241,239
02 SIS 2L S0l A& 450,000 188,014 261,986




od
3
OF
uJ

2A

bl
nr ™
(4O LHO iy
EE =
<0 &

W & o
A RO T

-

N20,747

n0

Klo

El

E=)

S
&

H3r ~

4]

RS
88 8
S S S
8 8 8

W_.

<

=
g g

[ 7

n |8 8

- |8 8

ad s S

< |2 <

I+

==

0

oF W 2 W

el = M0 =

W2 a2

& |M0 zo M0

- |o@ oo ol
__.A_Av.o__A

* [0gO

rr

A




Al & 0l & At Z M A
A= CAUE=S 2N E20
HM: C2NSY HE
=Rl TAIHEEZ 4 EER=E)
AR 2A - FH . O(3H) - HIRAY - BES 0 Ao e tmE==T
£2 43,036,689 40,790,651 2,246,038
< 874,600
Al 42,162,089
CENSY =E 15,027,000 12,234,000 2,793,000
< 150,000
Al 14,877,000
CAHEEZ HE 11,073,000 6,723,000 4,350,000
T W2 A 1,900,000 0 1,900,000
401 AIEHIZL 20| 1,900,000 0 1,900,000
01 AlIZHI 1,900,000 0 1,900,000
OZ &1 NXZ HEA
1,900,000,000& 14| 1,900,000
2 P32 SE(U2-9) 1,000,000 1,000,000
401 AIEHIL 20| 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OZHEiotz R3=2 2&(0H2-9)
1,000,000,000& * 14! 1,000,000
STS SHEE T2HE(TH2-8) 500,000 0 500,000
401 AIEHIZL 20| 500,000 500,000
01 Al&ZHI 500,000 500,000
O&Hs otEs T2IHE(U2-8)
500,000,000 *14] 500,000
slats 2HEZ JHEZAHT2-7) 500,000 200,000 300,000
401 AIEHIL 20| 500,000 200,000 300,000
01 Al&HI 500,000 200,000 300,000
Ozlts AHE2 WL SAHTH2-7)
500,000,000+ 14| 500,000
SHAOHIE~ S ML E2IHE(S2-1) 300,000 0 300,000
401 AlEHIZL 20| 300,000 300,000
01 Al&ZHI 300,000 300,000
OSHAIJOMIE~SF2t ME 2 (S2-1
) 300,000,000 x 14! 300,000
BEHW~ZEE WA 2L (F2-5) 100,000 100,000
401 AIEHIYL 20| 100,000 100,000
01 Al&ZHI 100,000 100,000
O3 UHu~Earut S2INL(52-5)
100,000,000 14} 100,000
NE WIS~ LIFPIH 2T (S3-17) 300,000 100,000 200,000
401 AlEHIZL 2] 300,000 100,000 200,000
01 Al&ZHI 300,000 100,000 200,000
O guxz~-dd=5713a T22AF(S3-17)
300,000,000 %14 300,000
CAHEEZ A2 QIAHAALY 800,000 700,000 100,000
401 AIEHIZL 20| 800,000 700,000 100,000




D EANSSE 2M 0 S22

;F;—I: EAIﬁIZ‘EEﬁJHQ EER=E)
AR .24 - B OR(3) - HBA - Ol ke o HlmS2
01 Al&HI 800,000 700,000 100,000
OEANAHEETZE 212 CIRAGHAALS
800,000,000 14 800,000
O E CIZBEL~HIGHH TAIHE S ZEE(CH3-1) 2,000,000 1,300,000 700,000
401 AIEHIZ 2018 2,000,000 1,300,000 700,000
01 AlEHI 2,000,000 1,300,000 700,000
Ot = CIBEL~ZIEHH TAIHECZ2 &
Z(OH3-1) 2,000,000,000& 14 2,000,000
wes 850242 S2I14(A3-354) 200,000 100,000 100,000
401 AIEHIZL 28I 200,000 100,000 100,000
01 Al&HI 200,000 100,000 100,000
Ou2s 83042 =214 (A3-34)
200,000,000& x 14! 200,000
s NYEDH E2O0E(A3-2) 50,000 500,000 A450,000
401 AIEHIZ 28I 50,000 500,000 A450,000
01 AlEHI 50,000 500,000 A450,000
Ouis HYNS T2 (A3-P)
50,000,000 14 50,000
F2AUE~ofletz22t S2INE (A 1-17) 100,000 500,000 400,000
401 AlEHIZ 20| 100,000 500,000 400,000
01 Al&HI 100,000 500,000 400,000
OF2AS~Ht22t T2IUHE (21-17)
100,000,000 14 100,000
AESH S22 T2HESAH(A3-8) 100,000 100,000
401 A& B2 20HY| 100,000 100,000
01 AlEHI 100,000 100,000
OLsH 28132 T2IMESAHA3-8)
100,000,000 14 100,000
== &S0I0HHE & S2IH4 50,000 0 50,000
401 AlEHIZ 20| 50,000 50,000
01 Al&HI 50,000 50,000
Ou=s A0I0tIIE & =24
50,000,000 14! 50,000
DI EZE HEHE 100,000 100,000
401 A& B 20HYI 100,000 100,000
01 Al&HI 100,000 100,000
OO0 E=Z IHLHE =&
100,000,000 * 14! 100,000
L= MU~ AEERSRY E2MHE 500,000 500,000
401 Al&HIZ 20| 500,000 500,000
01 AlEHI 500,000 500,000
O s slMuiZ~-ASEAIA-L &2
500,000,000 » 14! 500,000
3ot EAHOIE TAHEEZ(AM1-73) 350,000 0 350,000




2N E21

E2NEY B
SAAHEER JHE 2 HA)
AR .24 - B OR(3) - HBA - Ol ke o HlmS2
401 AIEHIZL 28I 350,000 350,000
01 Al&HI 350,000 350,000
Ot EAHIOIE TAHEEZ(A1-73)
350,000,000 14 350,000
3AHES ASIOHIE S E2ME(52-14) 500,000 0 500,000
401 Al HIZ20HY| 500,000 500,000
01 AlEHI 500,000 500,000
O3l4ts MEIOHIHE §l S2IHA(Z2-14)
500,000,000& » 14! 500,000
AASHEZ =2 O|NMEX 1,200,000 0 ,200,000
401 AIEHIZL 28I 1,200,000 1,200,000
01 Al&HI 1,200,000 1,200,000
OYUASHEZ =2 OI™EXI
1,200,000,0002 *14] 1,200,000
SAHEEZ AEFE 29 3,000 3,000
202 Ot 3,000 3,000
01 =LHO4 b 3,000 3,000
OZANAHEEZ AFHFA
3,000,000 14 3,000
SZ2HEGI AZ2A2AIAE 2HAIS 20,000 20,000
207 AN 20,000 20,000
02 MADH Y| 20,000 20,000
CEZ2EE0IF A2 HE2d 249
20,000,000 * 14! 20,000
S8 EAHO0IE dY=Z d- 500,000 500,000
401 AIEHIL2HYI 500,000 500,000
01 AlEHI 500,000 500,000
O&Esd SHOIE Y2 (A JIZHE 2
B 500,000,000& * 14! 500,000
HANE ¥ SHEEZZ e 3,954,000 5,511,000 21,557,000
= 150,000
Al 3,804,000
FR06sH(228) X 300,000 100,000 200,000
401 AIEHIZL 28I 300,000 100,000 200,000
01 Al&HI 300,000 100,000 200,000
OF28bsH(22S) X
300,000,000 14 300,000
= T2 FF01SH UEIHE B AL 200,000 200,000
401 AIEHIZ 28I 200,000 200,000
01 AlEHI 200,000 200,000
OsEEz FEI01sH IHE S A
200,000,000 * 14! 200,000
sHEZZR(FENISH) &L A 250,000 0 250,000
401 AIEHIZL 28I 250,000 250,000




A2 SADRER SN R
M CRUSY 2=
el SEAE 2 SHEZZ L (Gt H2)
MR- 2N - F - BRIEH) - MRA of et o HIDE2
01 Al&H| 250,000 0 250,000
Os0EEZZ(FTNISH) HEFSA
250,000,000 * 14 250,000
SHEZZ FH1RSH(MEI2l) HESA 200,000 100,000 100,000
401 AIZHIX 20HH 200,000 100,000 100,000
01 A28l 200,000 100,000 100,000
OsHEZZ FE1RSH (MYI2l) e
200,000,000 *14] 200,000
dS2NSH(AAS~2H) 82 H 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
OgS211sH (A S~2H) Stz
200,000,000& 14 200,000
TH2065H(MEIZ2Z) B2EY 150,000 100,000 50,000
401 AIZHIX R0HH 150,000 100,000 50,000
01 AlZH| 150,000 100,000 50,000
OTE205SH(MHI=E) SHEE
150,000, 0003 * 14! 150,000
TEH208S M (&) E20HE 250,000 150,000 100,000
401 A2 HIRL 201 250,000 150,000 100,000
01 Al&HI 250,000 150,000 100,000
OF 285 (srate]) =244
250,000,000& x14] 250,000
AE208S 6 (20ld) SZHIAL 200,000 150,000 50,000
401 AlIEHIZ S 0HBI 200,000 150,000 50,000
01 AlZH| 200,000 150,000 50,000
OAE2085 6 (L01M) SHEE
200,000,000 *14] 200,000
AE210& 4 (e SEXRAE) &2 200,000 505,000 A305,000
401 AIEHIZ S THYI 200,000 505,000 305,000
01 Al&HI 200,000 500,000 A.300,000
OAIE210S M (Bt SSAIANE) 22 Y
200,000,000& *14] 200,000
QHIMNC~E S AEIHESA 300,000 300,000
401 AlIEHIZ 201 300,000 300,000
01 A&l 300,000 300,000
ORI -HET QT IHe
300,000,000 * 14 300,000
SUHAE NNSH(FE diet2) l=F| 200,000 200,000
401 AIEHIZL SR OHYI 200,000 200,000
01 AlZ8| 200,000 200,000
OSBAIE 1N1E4(F=228 dfietz) A FH|
200,000,000& *14] 200,000
getal~dsH etellzt 24 700,000 0 700,000




a3 TAlLS= M E20
M TRNEY 25
el SEAE 2 SHEZZ L (Gt H2)
4224 - F - B9I(EH) - MRAY of et o HIDE2
401 Al HIZL 201 700,000 700,000
01 Al&H| 700,000 700,000
OLBIZ~ASH oHoITIH C2Ija
700,000,000 x 14 700,000
SHEZZE =SMFAHE 100,000 100,000 0
401 AlZHIZ S OHbI 100,000 100,000
01 AlZ8| 100,000 100,000
OSHEZZ MEAHE +EE4
100,000,000 * 14! 100,000
SHAE & SHEEZZ AT 233 4,000 4,000 0
202 04| 4,000 4,000
01 2LHoIH 4,000 4,000
OSHAIL & S0HEEZZ2 MEFT 23
] 4,000,000 *14] 4,000
F2A2035H SZ2ELESAL 400,000 400,000
401 AIZHIX 20HH 400,000 400,000
01 A28l 400,000 400,000
OF2d 235 T2 &L HISA
400,000,000 *14] 400,000
ANEE Hae| 2022l ZEBA 300,000 0 300,000
& 150,000
Al 150,000
401 Al HIZL 201 300,000 0 300,000
= 150,000
Al 150,000
01 AlZH| 300,000 0 300,000
OAHEE Hale| 2022l= ZEIA
300,000,000 * 14 300,000
S 150,000
Al 150,000
CZ2AIE 2L 18,134,826 20,950,192 A2,815,366
= 724,600
Al 17,410,226
SHAE & SHERZ RAES 3,086,070 2,877,788 208,282
SHAE & SHERRZ RANEs 916,070 907,788 8,282
101 @12A4H| 96,070 87,788 8,282
MU IRHZZ2NSE 96,070 87,788 8,282
OS8AE € sHEZZ Mz=RY JlE2
92,8003 7 *14L+8R A 72,756
OSZAE & SHEEZZ NM=HY F5=
g 92,8003 x7 H*4 L +82 A 20,788
OS8AE & S0HEZZ HM=HY 1S -
SHEE RS 93,544,0002 %2. 7% 2,526
305 HHal= S 20,000 20,000 0




Ax CAUES A 21
M CRAL2
Rl SHAE € SHEEZ RAEF EERED
AR 2N B S2(3H) - NSAY - BES 0l Aot e tmE=FT
01 thet=S 20,000 20,000 0
OSYAE ¥ sOHEZZ 28 Tl thaa
20,000,000 *14] 20,000
401 AlEHIYL S THYI 800,000 800,000
01 Al&HI 790,000 790,000
OS8AE & sHEZZ RAES
790,000,000 x14] 790,000
03 A2 20HHI 10,000 10,000 0
OAIZ 20l 10,000,000 » 14 10,000
SHAE £ SOHEER IINSEX 24 610,000 410,000 200,000
305 Hia =S 10,000 10,000 0
01 =S 10,000 10,000 0
OOIXIZSEX A0l Chet Biats
10,000,000 *14] 10,000
401 AlEHIYL S THYI 600,000 400,000 200,000
01 Al&HI 600,000 400,000 200,000
OSYAE 4 sHEER 0IX=S8X 24
600,000,000 x14] 600,000
SHAE L SHESZ 2UJAHAAY 1,300,000 1,300,000
401 Al&BIL S THYI 1,300,000 1,300,000
01 Al£HI 1,290,000 1,290,000
OSBAE & SOHEZZ 2ZHAAY
1,290,000,000& » 141 1,290,000
03 AlER0HHI 10,000 10,000 0
OAl4 STHYI 10,000,000 * 14! 10,000
EEAE FX2el 60,000 60,000
401 AlZBIL S THYI 60,000 60,000
01 Al&ZHI 60,000 60,000
OZEEANH SN2 (HIIEY)
20,000, 000& » 14 20,000
OZEEANY KRR 22(HLEH)
40,000,000 *14] 40,000
SHAE S2UE ditst 2= 200,000 200,000 0
401 AlEHIYL S THYI 200,000 200,000
01 Al&HI 200,000 200,000
OSYAE Z201F Motst 2=
200,000,000 x14] 200,000
FOldE QIRoHA 1,902,000 1,702,000 200,000
el ZH| 502,000 302,000 200,000
401 Al&BIL LY 502,000 302,000 200,000
01 Al£HI 500,000 300,000 200,000
Oel=FH| 500,000,000 » 14 500,000
03 A& S CHYI 2,000 2,000 0
OQI=EH| Rl 2,000,000 %14 2,000




A= SANSH
FH: Tz Aldae]
s FRIME DIR6HA

2N E21

AR A ZH . SR(E) - NIRAY - BYS Ofl ko e HimEST
S2EZE H| 800,000 700,000 100,000
401 AIEHIZL 28I 800,000 700,000 100,000
01 A&l 795,000 695,000 100,000
O&E=2ZEFH| 795,000,000 14 795,000
03 Al S CHHI 5,000 5,000 0
Oz Zdd| 2
5,000,000& * 14! 5,000
wxtZ2 FZl 600,000 500,000 100,000
401 AlEHIZ 20| 600,000 500,000 100,000
01 Al&HI 597,000 497,000 100,000
Quxtz | 597,000,000 14! 597,000
03 AIE =2 CHHI 3,000 3,000 0
Ouxt= Zdl 2oyl 3,000,000 14 3,000
ANE & AISAIE KX 10,431,092 14,392,050 23,960,958
= 724,600
Al 9,706,492
AIHXI E2FH| & B 1,638,092 1,407,050 231,042
101 @I24H| 128,092 117,050 11,042
M IIRHMZ2Z2XSE+ 128,092 117,050 11,042
o224 HM=&Y JI=Za
92,8002 x4 B 142 +212 AN 109,133
OLzZ¥ M= F5+H
92,800 »4H 22 +212 A 15,591
OL2H H=ZY N8 - MEE €3
124,724,0002 *2. 7% 3,368
305 HHAl =S 10,000 10,000
01 tH& =S 10,000 10,000
OZ=2ZAILES Q12! TloH tHa=
10,000,000& * 14! 10,000
401 AIEHIZL 28I 1,500,000 1,280,000 220,000
01 Al&HI 1,495,000 1,275,000 220,000
OAIJIX S23H| & 2=
1,495,000,000& * 14 1,495,000
03 Al S CHHI 5,000 5,000 0
OAIIHRI E28H|l & 2=+
5,000,000& 14! 5,000
&K SSHALS 1,500,000 7,800,000 26,300,000
401 AIEHIZL 28I 1,500,000 7,800,000 26,300,000
01 AlIEHI 1,500,000 7,800,000 26,300,000
OXEXESAML(EMZE)
1,500,000,0002 *14] 1,500,000
=W LI A= 12,000 12,000 0
401 AIEHIZ 2018 12,000 12,000
01 AlEHI 12,000 12,000




A= SANSH

FH: Tz Aldae]

2N E21

TRt Al & AIZAIE =A2e (CHe ®S)
AR -2 - T S(3) - MRAY - BYS 0l bt e CImE==}
Ol 82| |2l
3,000,000 47| 12,000
wg KA L= 900,000 900,000
401 AlZHIL 2 CHY] 900,000 900,000
01 AlZHI 895,000 895,000
Oug =X2+ 895,000,000+ 14| 895,000
03 Al = CH Bl 5,000 5,000 0
Oug |NE+ 20l
5,000,000+ 14| 5,000
C2EXTEY 300,000 250,000 50,000
401 AlZHIL 2 0HY] 300,000 250,000 50,000
01 Al 300,000 250,000 50,000
OT2HXI | 300,000,000 14 300,000
WSOHMAIE SHIAS 250,000 250,000 0
401 AlZHIL S CHY] 250,000 250,000
01 AlZHI 250,000 250,000
OLSHMAIE EH 250,000,000+ 14| 250,000
oglol2s 79 Jje 1,000,000 1,000,000 0
< 500,000
Al 500,000
401 AlZHIL 2 0] 1,000,000 1,000,000 0
& 500,000
Al 500,000
01 Al 1,000,000 1,000,000 0
O0gloIE2S 29 I
1,000,000,0002 * 14| 1,000,000
< 500,000
Al 500,000
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401 AIEHIL 20t 200,000 100,000 100,000
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01 Al&HI 400,000 0 400,000
OL2 xUictel EFHIS AL
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2000t 24 2 HAEASA 100,000 0 100,000
401 AIEHIZL 20| 100,000 0 100,000
01 Al&ZHI 100,000 0 100,000
OZX210tw 2= & WAEZSA
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01 Al&HI 300,000 0 300,000
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401 AlEHIZL 2] 100,000 0 100,000
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100,000,000& 14| 100,000
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FEFOME~HdNE AL 100,000 0 100,000
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01 A&l 1,000,000 700,000 300,000
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T2 AFE 2Z | 3,000 3,000 0
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Al 65,000
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o=l 8,000
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ogxtz 917,000
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206 TH=HI 245,400 180,000 65,400
01 =4I 245,400 180,000 65,400
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O EtAt 20,0002 *1,000m 20,000
Ogzzs 468,000 *300= 140,400
OEN=; 100,000& 400& 40,000
OkEz2+E Tt 30,000,000 x 14 30,000
302 OI=LMHHEA S 62,000 62,000
02 2N S A2 S243 62,000 62,000
O=All| 8,000 +80& »503] 32,000
ORFl 30,000,000 #14] 30,000
305 HH& =SS 20,000 20,000
01 Hat=s S 20,000 20,000
OM&E elztolTlol HHa =
20,000,000 *14] 20,000
405 AHaHE S 260,000 180,000 80,000
01 TR ESFSHI 260,000 180,000 80,000
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O&x)] & M&Jl 2
80,000,000 *1CH 80,000
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2 ss=34l 52,500 52,500 0
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1,500,000 x212 A 31,500
OsSts NExY RF
1,000,000 <21 A 21,000
406 XHoHR =4I 60,000 40,000 20,000
01 A= FHSHI 60,000 40,000 20,000
ONeae 6,000,000 +10CH 60,000
C2HY =29 763,364 469,454 293,910
LEY - YA IE 2l 319,904 266,743 53,161
201 Let2aY| 2,760 3,624 1864
01 At 2tell 2,760 3,624 1864
O ZaoEE AIRY X
230,000« 122 2,760
307 2Izto|d 317,144 263,119 54,025
05 QIZtRE 3 317,144 263,119 54,025
OL8Y - A= 22 Y
317,144,000 » 14| 317,144
ALIH 2E2 376,160 126,160 250,000
201 LerE 3| 126,160 126,160 0
01 Al2telsl 5,680 5,680 0
Oul=tl 1,600
cA&IIH2E HY=S
200,0002 x4 =23 1,600
Oogxtz 4,080
od&IH Ytz 600,000 *62 3,600
od4I| Atz 40,0002+ 12 480
R =234l 120,480 120,480 0
O332= € MAl 8,480
cAEIH HME 60,0002 +8CH 480
cAH&IH 282 1,000,000 8LCH 8,000
OAIE ZHIS XY 112,000
oAEI|H R=HI 4,000,000« 123 48,000
oA&IH 2l & =X
8,000,000 +8CH 64,000
406 XHoHF St 250,000 0 250,000
01 A= FH =8I 250,000 0 250,000
O=xJ| #¢ 250,000,000 1CH 250,000
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SAIEAIE HIIRS 600,000& = 12& 7,200
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100,000& x12& 1,200
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202 0441 10,800 10,800
01 =LHOdHI 10,800 10,800
O==HIAIY =&Y 10,800
oA Y N4 =TI
150,000 24 «33| 10,800
203 PR F=&IY| 2,100 2,100
03 Al F=AHRFAIH| 2,100 2,100
OAMFRLRFEH| 2,100,000& * 14| 2,100
HAERIAHH(Z2 1) 824,863 756,459 68,404
oIz 2| 730,875 665, 171 65,704
S22 RQIAHHIXIA 730,875 665, 171 65,704
101 e124d| 452,018 392,824 59,14
03 BRA(RIAH X)) 22X E > 452,018 392,824 59,194
(OpIE== 205,942
o254 2,451,602 x7H+12& 205,942
o&Fz2s+Y 19,682
o254 2,811, 690& *7H *50%+23] 19,682
OXME | 66,919
o5 2,811,602 +7%340% 66,919
OFAsg 38,640
oIl ELE 8,400
- B XA 40,0002 7B+ 18« 12& 3,360
IS 20,0003 *7H+x3H+12& 5,040
o SR 160,000 7+ 122 13,440
oXEe g 140,000 *7H + 122 11,760
oM 60,0003 x7F* 128 5,040
O=cl=MH| 52,935
o HAZ A 140, 0008 +7 * 128 11,760
cunEEx| 140,000 7H 122 11,760
SEFSEwi] 23,619
254 2,811,600& 7 *120% 23,619
o 2HAY| 3,000 *23L x7H 12 5,7%
Ox=222Y 67,900
oAt 2R
30,000 *200A| 2t+7H 42,000
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201 LEr2AH| 4,200 9,744 N5, 544
01 AtR2t2lbl 4,200 9,744 N5,544
(@I E==1s] 4,200
oXMHEQ| 5F 600,000 *7H 4,200
M HA=RE2SE 274,657 262,603 12,054
M Z2RE(RIHH 22X BEE2REH=2 = 274,657 10,804 263,853
O=014d2 22 456,218,000 *4 . 5% 20,530
OHLEBY 2232 456,218, 000& *3.545% 16,173
OLEI QU R3
16, 173,000& *12.27% 1,985
onsysy 242 456,218,000 *2% 9,125
O EY 2232 456,218,000& *1.5% 6,844
OE&Z2 23 220,000,000 & =1 A 220,000
JlE3ddl| 93,988 91,288 2,700
JlE2&H| 93,988 91,288 2,700
201 B2 AH| 64,648 63,448 1,200
01 AlR22IH| 50,848 59,848 0
OgsrAgH 3,200
CHIANDBE L ARIDILDE
12,000,000 * 14! 12,000
SESECP PN I= 50,0002 20l = 122 1,200
oAE M| 2,000,000 *1A 2,000
o J|Et=&H| 5,000,000 & * 1A 5,000
oXtHtARZ 1,000,000& *1CH*12& 12,000
O= | 27,648
)2 FRrAZ A
8,000& x24H % 123| x 128 27,648
02 852490l 4,800 3,600 1,200
OXtet2 =] 400,000& x1CH*12& 4,800
202 044| 23,040 23,040
01 2L Y| 23,040 23,040
OJ|I2g24sM | 23,040
oJ|E2HRA I
20,0002 x24H *43| x 12 23,040
203 R =&IH| 4,800 4,800
04 EASHAH 2= 4,800 4,800
OFNMSYIR=EH] 400,000& x 128 4,800
405 KA SH 1,500 1,500
01 AL 2 EF S| 1,500 1,500
O2A M| 2 1,500,000 *1CH 1,500
NWLES(=2) 9,050,000 6,850,000 2,200,000
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A2 ZADER S ASD
Hu: 2z
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A= 273,800 1,270,590 996,790
=22 228,320 1,226,150 997,830
EESTEES 215,600 221,110 75,510
AZHE MU AT 179,600 178,810 790
201 LBr2AY| 179,600 178,810 790
01 AR 22lH| 179,600 172,810 6,790
O3l &lolay 70,0002 +28%* 103 19,600
OASAt 2043 S48
140,000,00024 14} 140,000
OAESR2NE AELL2
20,000,0002 14} 20,000
A=Y 22| 16,000 12,300 3,700
202 01t 14,000 10,000 4,000
01 2UH0HH| 14,000 10,000 4,000
ORISR EX0iY|
20,0002 *102 %703 14,000
203 R E7IY| 2,000 2,300 A300
03 Al ZRI ARSI 2,000 2,300 A300
OAZUR AIMEX 2,000,000 %14 2,000
NZTGHRIY ALES 2el 20,000 30,000 10,000
201 Lst2 | 10,000 20,000 10,000
01 AR 22lH| 0,000 20,000 A10,000
ogpt=gH| 10,000
cUNFRFE B
10,000,002 14! 10,000
401 AIEHIL 2B 10,000 10,000
01 Alatt] 0,000 10,000
OYAEYFE 2r2l(E S)
10,000,00024% 14! 10,000
AS20F 2ol Bat 4,720 270,720 266,000
AZSOY Fel L 2Y 400 266,400 268,000
201 LBr2AY| 400 3,400 3,000
01 AR 22lH| 400 3,400 3,000
ogsr=gH| 400
CARE ALV FUISK
200,000 +2CH 400
AZSOE 2oL S AL 4,320 4,320 0
202 O1H| 4,320 4,320
01 201 4,320 4,320
OAZSUE B2IZst R0
20,00021%3% 725 4,320
AZZ N2 8,000 13,920 5,920
e = r=P 8,000 13,920 75,920
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J|=2A| 45,480 44,440 1,040
J|=22Y| 45,480 44,440 1,040
201 YBr2 Y| 31,280 31,440 A160
01 AtRZH2lH| 31,280 31,440 A160
Oouptag| 17,840
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400,0002! * 122 4,800
SARIII| ABRE o)
400,0002! * 122 4,800
oARBDLHH 150,00024+ 122 1,800
oM THHI= 2,000,0002 * 14! 2,000
op2a=g 20,0009 <35+ 122 720
oX4)| AXE 60,0002 * 122 720
oJ|Et2H] 3,000,0002 * 1Al 3,000
o3gtl 13,440
o)|2AR4H ZAIY
8,00021+ 10 * 142« 122 13,440
202 04t 10,000 8,200 1,800
01 2LH0IHI 10,000 8,200 1,800
OJ|=2ge48 ot
100,0002 %1024 %103} 10,000
203 AR EE| 4,200 4,800 AB00
M PASYAREZIH| 4,200 4,800 AB00
ORN2gAREX 350,00021+ 122 4,200




H & 0l & AHS B Ml A
Ax CAUES sy ==
M =HEH
el FHE3 8] EERED
AZ 2N T G(E) - HRAY - BES 0l st e HimE=+T
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401 AlEBIYL S THYI 30,000 0 30,000
01 Al&HI 30,000 0 30,000
BIEAHIAL (XFAI) 10,000,000& %35 30,000
402 RIZHAHZ01H 150,000 180,000 30,000
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OBIEEHIAMS(EX)
3,750,000 x50 +80% 150,000
T . sEFHEZEH 233 7,100 5,100 2,000
202 04t 5,100 5,100 0
01 =LHGi 5,100 5,100 0
OFHEM o EBIHHAIY LRFH
20,0003 x3& »853] 5,100
203 BR=&H] 2,000 2,000
03 Al =T A= 2,000 2,000
OFHSZNE AIH=A
2,000,000 %14 2,000
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SSTH 2l 4,368,760 839,400 3,529,360
SSTEaL 908,760 809,400 99,360
201 et2 3| 3,000 3,000 0
03 A2 HHI 3,000 3,000 0
OOHIIE=D! 2|H(LF=NUHE) 1S
3,000,000 %13 3,000
202 044l 5,760 6,400 A640
01 =LHoi 5,760 6,400 2640
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OZHYOIELIOF = H=E 42/d| X (H
) 700,000,000& =1 A 700,000
MALASHAIEZ 22l 2,700,000 0 2,700,000
401 AIEHI X204 2,700,000 2,700,000
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202 04| 6,000 6,000
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SSAIE XA 12,300 12,300 0
SSAIE XJ|YR 12,300 12,300 0
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202 04b| 9,600 9,600
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